AirVantage Parts

All Other AirVantage Parts

Description Eurovac Part No. LIST
Airvantage Housing ZSS&?X;; 80.44
AirVantage Muffler Cap 1826'?(\3/;—6 3.62
AirVantage 3" LW Non-Vac to Vac Conversion Kit (pad TOO-AVT-
extra) AVB01740 51.52
AirVantage Bearing Shim 182(3/13\5\;/31-0_ 0.65
AVT T-1A Spindle Bearing Pressing Tool Base v 28.30
T-1 Press Tool Kit o 56.30
q Super Vac Swivel Ass'Y - 3/4" Port 18262‘(\)/;6
29.50
T-11 5/16 - 24 to 1/4 - 20 Adapter Assembly i 3485
Airvantage Muffler Kit 12,000 RPM
Kit is made up of the following three items: TOOAVT
e AVA0062 Internal Muffler (#38) AVA02920 9.30
e AVA0068 Muffler Insert (#39)
e AVA0166 Muffler Housing (#40)
1" x 6' Red Airline Jpvadi 63.68
Airvantage Universal Service Tool Kit for 5" and 6" Sanders
e Kit Includes: TOO-AVT-
AVA00250
I L. TOO-AVT-AVA00260
b . TOO-AVT-AVA00360
I = TOO-AVT-AVA00590 TOO-AVT- 186.00
— TOO-AVT-AVA01940 AVA04860 '
- ___;. TOO-AVT-AVA01950
TOO-AVT-AVA04940
e For 3" LW Sander Universal Service Tool Kit: Need
TOO-AVT-AVA04860 but also need to add TOO-AVT-
AVA02710
TOO-AVT-
AVT T-13 AVAQ4940 35.55
AirVantage Air Inlet Kit 1/4-18 NPT (used on all machines) |, ssa1o0 10.32
AirVantage Spindle Bearing Set for 5" and 6" ROS Sanders /182(-)2:/;(; 47.20
AirVantage Endplate Bearing Kit (used on all machines) ;826’2:/:6 26.90
. . . " TOO-AVT-
AirVantage Spindle Bearing Set for 3x4 and 3" LW Sander AVA0B180 38.50
Airvantage Rotor, Vanes & Key Set ;826%/;6 35.50
Airvantage Speed Valve Set ;826’?:/11- 0 7.35
AirVantage Inlet Bushing Ass'y ;826’8:/;6 5.40
Airvantage Valve Spring ;826’8:/:6 1.10
. . TOO-AVT-
Airvantage Shim 800-265-3878 AVAO016 0.52

prices subject to change without notice www.eurovac.com

16/07/2013



AirVantage Bearing Shim (#193 below proper part number) ;826’8:/;; 0.55

AirVantage Belleville Washer ;826’8:% 0.94

AirVantage Retaining Ring ;826’8:/;; 0.96

AirVantage 6001ZZ Bearing ;826’8:/;6 12.37

AirVantage 6001U Bearing ;826’8;/3; 13.78

AirVantage 6000ZZ Bearing ;826’8;/11- 0 13.88

Airvantage Orbital Sander Wrench ;826’8;/;6 5.45

Airvantage 3" Oribital Wrench (24Mm) vadi 7.04

AVT T-6 Motor Lock Ring Wrench yendi 56.35

< \_H_m D AVT T-7 Service Clamp v 44.95
Airvantage Pin For Lever ;826’8;/11-' 0.65

AirVantage Lever Spring Pin ;826’8;/11; 0.55

Airvantage Muffler 10000Rpm ;826’8;/;6 1.84

AirVantage 6001 Bearing ;826’8;/;6 11.62

\ "( AVT T-8 Motor Faceplate Bearing Removal Tool 1826'8;/;; 20.75

Ve

Airvantage Muffler Plate 10000Rpm yendi 0.75

Airvantage Valve Internal Stop Ring 18265‘;/;6 0.66

AirVantage External Stop Ring XS%SXJ(; 0.52

AirVantage Woodruff Key XS%SXI 0 3.43

AirVantage 5.0 x 2.0 O-Ring i 0.52

Airvantage 9.0 x 1.5 O-Ring Ryeadi 0.65

AirVantage 40.0 x 3.5 O-Ring Ryeadi 192

AVT T-9 12MM ID Bearing Puller yeadi 38.00

AirVantage Internal Muffler (1) 182(;623/;6 3.20

Airvantage Vane & Rotor Set 182(;623/;6 52.00

AirVantage Small Bore Lower End Plate XS%S%% 2176

AirVantage Small Bore Upper End Plate 182(;623/;6 2176

AirVantage Small Bore Cylinder Ass'y XS%S%% 76.68

AirVantage Muffler (1) 182(;623/;6 0.92

Airvantage "10000 Rpm" Lever yendi 11.00

Airvantage "12000 Rpm" Levezrss 2678 yendi 11.00

prices subject to change without notice www.eurovac.com 16/07/2013



Super Vac Swivel Ass'Y - 1" Port TOO-AVT- 29.50
e (Or the 3/4" port) AVA0099 :
Airvantage Motor Lock Ring ;826’8&1- 0 5.45
AirVantage Bushing Torque to 36-48 in-Ib ;826’8%% 6.65
Airvantage Muffler Cap Cv & Nv Sander ;826’%;6 3.00
AirVantage Cylinder Spring Pin ;826’8%% 290
Airvantage Valve ;826’8%% 3.16
Airvantage Valve Stem ;826’%;; 3.90
Airvantage Valve Seat ;826’%;6 1.65
AVT 3" LW Non-Vac to Vac Conversion Kit TOOAVT
e Pad extra AVB(_)17 4(3 52.00
e 1" Swivel Connection
AVT 3" LW Non-Vac to Vac Conversion Kit TOOAVT
e Pad extra AVB(_)17 41' 52.00
e 3/4" Swivel Connection
AVT 3" LW Self Generated to Vac Conversion Kit TOOAVT
e Pad extra AVB(_)175(; 60.65
e 1" Swivel Connection
AVT 3" LW Self Generated to Vac Conversion Kit TOOAVT
e Pad extra AVB(_)1751' 60.65
e 3/4" Swivel Connection
Airvantage Valve Speed Control ;836’8:/:6 3.95
AirVantage Spindle ;836’8:/;; 46 45
AirVantage 5in. Balancer Shaft ;836’8:/;6 116.64
AirVantage 3, 3-1/2 & 5 in. TE Non Vac Ay andi 13.60
Screw For Central Vacuum Fitting ;826’8Xg ) 1.27
M5 Washer Central Vacuum Fitting ;826’3;’ 0.32
M5 Flanged Nut Central Vac Fitting yvads 0.75
AirVantage 5" Air Shield Shaft Balancer ;836’8;/;6 113.24
. " TOO-AVT-
AirVantage 6" Vacuum Shroud AVC00040 28.96
" TOO-AVT-
Central Vacuum Fitting AVC0005 28.96
TOO-AVT-
Super Vac Shroud AVC0012 20.75
. TOO-AVT-
Vacuum Shroud For 5"/6" Lp & Te Pads AVC0022 20.75
TOO-AVT-
5" Motor Assembly XP51A000 235.00

800-265-3878
prices subject to change without notice www.eurovac.com 16/07/2013



